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e Tick the correct answer:-
Q.1 The number which cannot be represented by Roman numerals is-

a.0 b. 11 c. 99 d. 32
Q.2 The Roman numerals for 19 is-

a. IX b. XIV c. XIX d. 11X
Q.3 In Roman numerals , X can be repeated at the most-

a. 1time b. 2 times c. 3 times d. 4 times
Q.4 Which of the following Roman numerals is meaningless-

a. XVIII b. IXIV c. XXIV d. XXIX
Q.5 The °V’ in Roman numerals can be represented only-

a. once b. twice c. thrice d. four times

Q.6 put the correct sign <, > or = in the box.

a. IX Vv b. XXXIII XXXVI
Q.7 Write the Roman numerals for the following-

a. 38 b. 49 c. 23
Q.8 Write the Hindu- Arabic numerals for the following-

a. XXVIII b. XVI c. IX d. XLII

Q.9 Arrange the following in ascending order-
a. XIX, IV, VI, XXI, XLII
b. XXIV , XXXVI, XIV , XXIX
Q.10 Arrange in descending order-
a. XXIX, XVII, XXXII , XXXVI
b. IX, XXI,VII,V,L




